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W=F X (1-%0/,) =12000 x (1- 912/, ;) = 7200kg/h

VIR H SR R, ST IRk ae ki, HBW1:W2:W3=1:1.1:1.2
FrLL, W= WI1+W2+W3=7200kg/h, 15:

W, = 2181.82kg/h
W, = 2400.00kg/h
W; = 2618.18kg/h
Wi——& 7% K&, kg/h
DG ESSER
_FXx, 12000 X 0.12

X1 = Fw, 12000 - 218182 01467
F X x, 12000 X 0.12
X = F W, -W, 12000 - 218182 - 240000 _ 194
F X x, 12000 X 0.12
Xp = 0.30

F-W, -W,-W,; 12000 - 2181.82 - 2400.00 - 2618.18 _
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MIERN: AP = 500 — 20 = 480kPa
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B T IRARIRM RSN : P = Py - APy = 500 - 160 = 340kPa
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B T IRARIRIN RSN : Py = P, - AP; = 180 - 160 = 20kPa
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1460 X 9.81 X 1.2

Ps =20+ = 28.6kPa
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t3 = T'3 + A3 =601+179+78+1=868T

A BRI 2

ZAt:AtT_ZAI

Aty =Ty - T,
HRAS, 7E 500kPa HIE ST, ZRMBANREZ 151.7°C, RAENE 2113k]/kg, T2
Aty = 151.7 - 60.1 - 44.7 = 46.9°C




3. AR RAE AR AR
i AR A
Wy = ny (0, 2), DI——FHEAE R ke/h

RIS RIPLVE
N, =0.98-0.7Ax = 0.98 - 0.7 X (0.1467 - 0.12) = 0.96131

W, = 0.96131 X D; X % = 0.94D, (0O =R
A AT A
rp tl - t2
WZ =1, |:W1—.+ (Fcpo - chpw) ; ]
rZ rZ
PR 8 n I
N, =0.98-0.7Ax, = 0.98 - 0.7 X (0.1941 - 0.1467) = 0.94682
W, = 0.94682 [2115 X W + (12000 X 3.77 - 4.187W,) 1448~ 127'5]
2o 2214 ! ' ' ! 2214
= 0.874W; + 334.7 (2)
=R AT O
I3 t— 13
W3 =1 3 |:W2_,+ (FCpO - chpw - WZCpW) ; ]
r3 r.3
PR 8 n L
N3 =0.98-0.7Ax; = 0.98 - 0.7 X (0.30 - 0.1941) = 0.9059
W3 = 0.9059 [2214 X W, + (12000 X 3.77 - 4.187W; - 4.187W,) 1275 - 86'8]
3T 2355 2 ' ' e 2/ 2355
= 0.686W, + 708.3 - 0.0656W, (3) R

NANW, + W, + W3 =W = 7200kg/h (4) X
AL (D). (2), (3 fl (4) 3, kA5
D;=2618.7kg/h

W1=2461.5kg/h

W,=2486.1kg/h

W3=2413.8kg/h

4. RRBHEHER

A — R HOE R RS, = =

KiAt;
AR, QuAKIMIES i A KEN W;
Kioff 1 JE B IR RECN W/ (m2C);
At 58 1 0 B ARG B 22 N C
S5 1 RCR B AR RINAN m?.
HERME RS, &SRB R RIS A Ki=1800W/ (m?+°C), Ko=1200 W/ (m?°C),

K3=600 W/ (m?+°C);



Q Dyry

2618.7 X 2113.2 X 1000

S, = = = = 69.43m?
KiAty K, (T;-t;) 3600 X 1800 X (157.1 - 144.8)
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